Opanl) 8 ALY aes el
(Ofin 0 Je s giny s S J) s 35)

. d}iﬁ\ d‘}d‘
Joall @ il gl 851391 Le p9ds ) 2SI el § 35Y1 e Jasdaseal] @dle (oo iay FY1 o0 g
Spse - psr pelul e cndlogll Beudiy
(sl dazeddl
S Jaghazeddl (<
ilbdeall ndazs (g
las o] u.ag! (J
L S Jgdl
ondilad! 6 ¥y Aegdull oyl Ledhent aibad! Joost) aiibe B Cadsgty S€padl gus) culd
§ i
At I e e 3o (]
il z ] Bgpas (o
A ] Brdle a2 Sligmas (o
A 5939 Ay Bydlis 8 Slgpuan (3
= Gl ) gad)
S 0935l Bl SIS (e utd YT o g
s By U1 U ol Al oyl 225 () '
Ol s (@
RIS PRESAEH N (G
WEEPRENC
) J) gl
Slas yad A o guaid! e
A | gy A (o2 sl 2L Apslll Sloglall (] ’
J2¥1 8108 Lagly Jo¥l Asgle ol l,all 3Ly auind Adag | Slaglall (<
B0 dagdagedll L clyad) SLesy ALl Sloglall auds &,la¥l Gl=ll (2
I el
A | gy BT o iy & 9mall e o] dadd o i AU dlza (0

S doezeio il adldl ‘_,A}.‘a.i." ‘_,.45.51
(935l oS i cragiad Of g Jadd Byl z Loyl ads (]
A ) s LIS Jalad o o Braldl pe a8 S (<

Page 10f 14



g AL yay 88l adSH pgame (2
Bl gl B oI 2aISS e ST Lasls B g0 g0 B, 2L e ca IS (3
© sl Jl )
S bya3 bLAL gt Gl Lesse 31 Liayly b dally Al juoliall (oo JS (e g3 I 2181
Syaldlaakst (0
adgdaalka (o
Lo oSy ¥ @l 2l (2
P PW.E T i€

L bd) Jl )
taliedl slgll jobic gusls Ao il ALl bl
$20 plidl alodl (e Bus gl ALK
B9 250 g genl @ Il
$400 (gl cllall) sfgh | s 4415
%10 ATy A 9350l L LaioM & giued | 21
48 d! @ Q—.&'L‘&‘ KPS
By ydY  Wslard ¥l el 4 plo
Busg 316 (]
Basy 693 (v

Bu>g 1,549 (z
Busg 2,191 (o
s ol )
(Obads o 83L3 Lel) slama¥! iy SLaSHI (as By U ao sloml BLES| § wige Ay s aladl Aloy
S Al 9idl I BLaTYI £Lill pgds O alaiud cags Ayl 2aLaid ¥l ¢ Ling¥l s e
1S GV Caat o o igs 4S54« BLaT Jo¥1 Anudl el
anaals
Bdie 4k WS (2

Le oSt (S ¥ aals (2

;poaldl) J) gl

e AN IS5 el 50,000 3515kl iy 3 (H) ikl oo Bty 10,000 LY 53190 ABC 45,4 (o
el 68,750 Jlon| By J Bumg 12,500 45, 41

§(5uly & pdie Wlint) 50N 7 Y1 o Ay 28UIad] A Ao

%125.5 %137.5 (i
%137.5 %125.5 (<

Page 2 of 14



%130.5 %125.5 (C

%125.5 %130.5 (2
¢kl Jl gl
P AL L) o 0@ Syad Jolandl Alnis oludosby 190l IS8 gus sl ¥ szl
$
20 B gd! s
8 B g § il | Al
79,104 polall alall &l 5ydldl 4e oldgpall

B9 7,500 ausg z Uk aolall aladl § 4S8l 095 o)f adgil e
SOl Jiwla 52 Lo
%12.1 (I
%13.8 (<
%47.3 (z
%89.6 (>
© de eaall Jisud)
: pa Gl 5 panl | 2alSal!

REAPSESTRVS PSS (- RPON| -t
oY) e &l pe Sl el (e Bl gll Busmgl B e (<
Y e ki e Yool 4l (o
ol 2 LY 09K Louie 878 ) 8,8 e Ylon| Bpia (2

- die S J) sl
piadl aldl mid | Sl yiea $ 4,400 Al ydd| ly § >l i) § Jilud! (e U 20,000 JLs-s| o3
s $0.50 3 o log dd> ol Al 8 suuuss qibg %20 ga Ay tl sda § uslall goladl Geiud! . A0 17,000
P g ¢ e te @ :

gl
B gl Sum ol 4615 plag « dyalall a2 §)lucedl of msyl sale
$0.15 suslgll B gll 24185 . $1,000 goladl pe mydl (]
$0.15 Bu>gll B gll 4aKS . $1,000 sl pt 3ylusdl (<
$0.28 suxlgll B gll 2aIS . $1,000 Lsladl e 5,Lusdl (z
$0.28 suxlgll B gll 2als . $1,000 goladl (2
e SIEN J)sud)
Al 38,400 s ekl Sildes gus| Jiay JLI
$000

Page 3 of 14



240 NSRS

215 z Lo Al e 5190
12 (Ao guns)ghadus 519
6 Odeald Silaga pa

2 3 )9ed) cilaga e

$42,000 ;5 22015 yes 31 § 315! (9350

§2015 13l 1 3 3okl 0935 luw 3 #Liid¥l iuo ) sale
.$1,000 (|
.$25,000 (<
.$33,000 (=
.$59,000 (>

L ode )l Jlsud
S o lo¥l 4G (ailas Cro iy (Y u.a‘:;|

(Walall) Bsglud | Sl gl aluseis] (1
eoad) Ay cons e zli¥l o (<
Andiie k5 polial 58l i) z oYl oo iy (2
leusd! opads 43l old) (2

Do Gea Al J) )
(o9 Badaie wileud A8, 401 elys Calsga 70 AL IMs . BN dyluy § alsga 500 Leod IS, A0 gus)
gl ilb g 46 auls o3
(% w,8Y) 5 Aal Dleall ol yo5 June g4 Le
%7 (|
%8 (=
%9 (c
%10 (>
© ke Gealdl J) sl
Spiall G AaH S0 (e Y gus| (als A0S mudt] 33 bl Sl 92 S o
Al 3850 JS G oYl sue (I
ALK S0 IS § oYY Al Alimll (o ¥ Aol (<
AL 3850 JS G oYY kS ol deid (2
AL 3850 US G oW Adasdl alelad! (o
© e ald) Jhsad)
:31pal 3Ly Ladle A IS s ]

Page 4 of 14



Al gt (0
Aol el (w
L (,Sces 1 Al el (g
Los edlei u.aé‘ €
;e Galll Jl sl
oo diddly apezmtll iz LY AT (3S 5w dd g1y ailall gu>| § Beta g Alpha (nzmildl 71| oty
alelu golal (e anldl 3)aldl 4é cldgmall Jeaxs oiy .Beta 10,000 5 Alpha 8,000 7z LuY! &l ss
Adlead!
Al A5 ) gall Cla glaa 0 j3 g3 28

b i) sy
$63,000 $55,000 Ayl A a9 s
paa ol 3 dbiall Allead) Cile
delw?2 delw15 Alpha zud|
4clw 0.5 deluw 1 Beta il

SBeta gid| (o Bus U di L) 41K &3l 90 plo
Nes 10,425 (]

Noa 3.46 («
Nos 9.75 (z
Ngs 4.00 (-
- e Al J)sud)

oS o < 2015 Byluy § Buseld $39 aus g Susoll $21 5 e 7 i) AAkS 4y e 7 Lk B 4S54 pods
Acdailly A5jlgell anlll Al Jlex] 5usg 50,000 aladl M5 clagd! i€y liud| o93de llia
a3 70,000 oIS Aaadl 7 Loty &3l z i) . (olaged |« ¥l . a9l zLuYI) $328,000
Szl e Aozl KU oluol he bl ¢ 935ell 9o Lo
$113,800 (I
$213,800 (<
$313,800 (z
$513,800 (-

L5 el J s
splald Alasll bty a5l ol sl Leod Aar LY lS,ad1 g
$504,000 a8yl pe Silé g yall 3Las) 4530 ge
4l 4clw 42,000 a3l blas
$515,000 Gaadl anlll 5, aldl e Sld g pall 3las)
4l aclu 45,000 Gadll oLl

$lius suzell Al 5,8l ] e ool gpall June plusic] Az Al

Page 5 of 14



el Juoms $36,000 (]
sl Jeezs $11,000 (<
ol Jues $25,000 (z
el Jeazs $25,000 (2
L0l 5 ad) J) sl

AGlS5 an B gd1 B gl $20 piiy 48,401 i £ Ly - $120,000 g 2Ll A1 098G o adgill e

Bus gl B g $12 5 piie
SJoladdl dadi Al
.34>3515,000 (]
. 54>95,000 (<
$u>920,000 (z
.3423510,000 (=
O el s (AU ) )

 FYIS 38y all ALl o LY A 453 g0 .59 10,000 g ] 43l ABC 4S5y gl

%100
$15,120

=

$ 100,000
$110,000
$5

%60 EEIN
$11,280 oy el Jlea)
$9%85 Adllay Jaad! 3 13] 7 L 2455 &35l g0 Al
$13,680 (I
$12,852 (<«
$14,025 (¢
$12,340 (=

DO sl g AN )
A 2L ey Caldy o lg i s IS4 g
BRIy
Lo Ca IS
Al dlesel| IS
CalS 8 Aal) Bus gl Buss o) ALl lé g jual |
S doezeio piad adldl ‘_,A}.‘a.i." ‘_,.45.51

LSyl 935l (e el 892,000 ol g3l Sligius i
«elEd) 0935l (e el 8u>92,000 > LYl o g3aell Sligius i

Page 6 of 14

WS ud 0 93kll Sligium ol Jois of Skl 42 e il
S0 I35 Lo (o AST Bl cilamg z L) o i

(iv) o () (
(iv) 5 (i) (<
Las (i) (z
bias  (iv) (J



L0 piall g il )l Jl sl
L ikl Ao o413 2 laglall . $20,000 ) Gty i 39 L gl | 5agundl ABC 45y s

$20 duslgdl il bg.g.").a_w
$12 Busl gl B gl 5 il | AT
$100,000 il 4assd

$$ 20,000 Laluds 7Ly Geazxid Gollall Slacd | oz sale
Basy 10,000 (I
Bu>g 15,000 (<
Bu>g 20,000 (z
Basy 25,000 (=
L O pdall s ualad) gl
gl il e Jguadl e Bebais 2L Ll

$

5,000 Waanll el Jlo

6,000 e, L) 2GS

7,500 ol sl Al Aagdll Slo

10,000 IIY 24l

§padl 3] (o 1,2Y Jguad AL | 28I AL

$ 10,000 (|

$ 7,500 (<

$ 6,000 (z

$ 5,000 (2
g pially el

Fore g el slaid L Z Y X W A ¥ Ll (e JST B 1,000 el ol iS)2d1 s

Ny
YA Y X w LY RN (NN
90 65 60 80 2l
15 5 15 10 (3elud! § 58)5,alk| Aloall
24 18 6 18 (84> 911 6$) alsctl s14d!
6 7 7 12 Bl 8y aldl pe cild g pall
6 7 7 9 Laasell 2l ol

B9 9,000 83ame 519l 19 Aol 10,000 5 Bouze Alaatl . slglly Alaall § 5y da g3
Sz LYl Aasls 3 ¥l oyleis] iy of oy Aas M1 Ll w;i

Wzl (]

X gdl (<

Yzl (z

Page 7 of 14



PO piall s i) J) sl
Y Szl s alolss s Aaiel) Aol Aol Jiadl Jondl o s
1,700= Y3+X2 (1)
2,600= Y2+X5 (2)

fagdl c¥slall plusmiwlb Y o X deid (2 Lo

Y X

400 300 (
400 400 (<
300 400 (z
300 300 (2

L O pdall g Gl Jl sl
§ a9 ) e tggbune o Costd S (o 1
ooyl ol e Jle slade iy o cdlxadl (o duze saad Al @iled lazs (I
A3kl Sl ol
e § ULl ki o 5Ll § &y el oy SLldl GlAs] § qumas Led (<
ol
bl Jelomt) Sllalaieag cloguy Joty 8yaall Led s p2ddl @ilsd (2
PO pdall s i) J) sl
§ o Apalall 4l yiluded) s Aokl ol §
B3y50)l Aasd Ladli dclindl 7 L) 225 (|
B35l ded (&—1
pladl gl cds LS (o
Uas oMel oo ! (o
o
o0 %10 0555 o5 adgill (e Basladl Ll . AileasS Aeleat SO e piad 315l (oo aly 51iS 4,000
o0l alya oSl Leo (alieil] $2 2alS5 A pidand Tadedl Leapado casy (S M5 L
py2 91 3,550 olS Alaall il yiellg $11,800 dl L 2415
9§ ,3Y) Aalall pe ilu)| A Jloz| 50l
$53 (]
$153 (v

Page 8 of 14



$175 (z
$275 (=

s ookl g saladl J) guddl
$ oLl Jloel 3yall pud dawlgy poiind O deizell 42 oo FYI (0 gl
Buslgll 48,40 aaladl aaks (I
(By25bl) Wgaadl oyl (<
25l s ael) 4K Tagie (2
ol cllall il o) dous (o
s ookl g (AN ) gudd)
098 dyluas @3 Jabl Jasg. g9l 50 5% (P) 7 L g ulis (C$) &34l § A gunedl| 218
.C=1,000 + 250P
S eio i e geud! L sl oo AW jogiaill e
$5 5ol 5yl | a1 L $000,1 2 Al aakat (0 ’
$4 50 g1 5 il | A L $250  p ALl 2akl (@
$1,000 5> oI § el | 221 L $250 p &Ll skl (2
$250 5ol 5 paall A2l ( $1,000 (p dn i) AaKall (o
L0 SNy A )
5=n.8,104= ) XY.32,278= D ¥2.2,040= ) X*.400= Y Y.100= Y X ;13
Y=atbxaslall § dmpmio iai b a JAJW 0l (0

b a
2.6+ 28 (
2.6- 28 («
2.6- 28 - (z
2.6+ 28 - (-
L 050l s il U Jlud)
T35 5h 1 Blual (e pia Lesy Y1 (e gl

G| (i)

Juas¥l (i)

gl (i)

Sl gagazs (V)
Laas (iv) . (i) . () (
Las (i) . (i) («
Las (iii) . (i) (¢
N a)lci&egi €

O Nl g Gud Al J) )

Page 9 of 14



§ gl i) gind) & el @idhe ulida 92 Y (0o
Sl e wsladl (1 ’
Bl pas (2
cJeendl G9l8& sue (3
2 . ( (
Las (2) (@
3. @ (
) INCNE

Page 10 of 14



) il

(il 3 36 e g giny J) s IS ALif 10)

O Nl g (waliall ) gudd)
289ill oo R giiell 2 Liad¥l 955! . asladl aladl Rzl (oo Busg 24,000 ard DAL 4S5, Jalases
ALl Bl G %25 Aady 0 935l Bablips 4S,al1 Jalasesg 5u>9 2,000 (9SG G
Spalall aladl L) cuzmy &I R ikl (o lusmsdl suie oS
Basg 23,500 (]

Bu>g 24,000 (<
Bu>g 24,500 (z
Bas>g9 30,000 (=
L0 SN g el
- dagiad tie bl 315kl e alya oS 8 guidl 10s cullaty Cus ualy ke gy gLk peds S8l i
: YIS AL 3 AaTL Alall ol Asl sl by

LA R
19,000 Slad
4,000 padl Al delndd 5okl Jof ¢ 9350
3,000 poall il deladl 5ull y51 ¢ 9350
Pl ol
50,000 Ll slgalt 5utl Jof 9350
53,000 NES I PONIERI PEAUPTE N
§ (ply2 shSIL) 21 BAAL ALl 3l5hl il b 53l50 Ao
141,000 (|
147,000 (<
157,000 (z
163,000 (2

Page 11 of 14



el 35,00 S b8y ysalls Bllaatl 2l ga dasy § e lud AUl cLaglal

Uiy iiall Lal) il
sl gll Bas ol 4al<H Baal ll Bas ol Aal<S
$ $

10 15 (aebudl §53) 5kl A2 loall

24 16 (aclud! §88) 5yl dleatl

34 31 Wleall 4215 Sl

849 12,000 898,000 ¥l &jlge

§ 570 § dugllall 5yalll Wlead! Slelu Jloz] Ao
4c L 40,000 (i
1cll 48,000 (v
4clu52,000 (z
4c L 60,000 €
"0 Nl g il ) )
Aeludl § %5 ludes ag pisall Jload S8yl sy glall Aleall Juns
Jloat adag g 4,800 7 Lis| o3 38l JM5 .4E8s 20 9o Buslg By 7 LY 4 o] g)leall cdgll
Aol 1,560 Acladtl Joall cilebu . aclud! §$5.25 aigall

Sallead! A4S Jloor| Bl ymsf 90 Lo
ol $390 (|
@b $190 (-
Sl 8190 (2
sl $390 (-
L 05N Jlsall

4 zoeud) cBglly doludl § arivatl] $7 gleall 5psall 5paldl s Slgpmall June Led SIS 2l gus)

Blas] Byl . Aol 8,320 § 5umg 3,200 zlul @ 544l JMsbusgll dclu 2.5 ga zLud (gLl
(sl $1,664 5l 5, ildl il ild g pual
§ Acludl § daadl il 8, bl e ool g pmaedd Jaall Juall sale

$6.53 (]

$6.80 (<

$6.93 (¢

$7.20 (-

O oY) Al Jl )
BAAN AU old il Jezeandy ISy 201 gus| il
s $10,000 Slagd | e Bl youi)
=) $5,000 2l pas Bl ymi

Page 12 of 14



@l $12,000 Al Jlan) b))
.$120,000 (S & el aulaill clageld gyleall m !
S5 el an Ll a3lsll 2Lyl Le
$137,000 (|
$130,000 (<«
$110,000 (z
$103,000 (=
o N1y ) 01l
¥l Slelu A5l ge ol yd pa T Lall Z Loy e Aozl 2a allaiy 7 LYl Syl gus] Joad
Al 24,000 colS Adaall Joadl Slelu ydo p31.$125,000 oS &l zLuY! 2aK5 &5l90s 25,000
Aol 27,000 =S haddl o Lol &bl sleludls
99 e, Al Aa Ll 8pald ) pe olé g pall 48l (8l i) gals
@bs  $5000 (i
b=l $5,000 (t.—1
@bs  $10,000 (z
ol=l$10,000 (2
) rcysa Y g Sl ) sud)
16l pla3 ity i dlaall Bldly 45l gd) mlu

(slaill AL 4 ) sal
B9 11,200 Bi>9 12,000

$ $
571,200 600,000 <l

(145,000) (144,000) JEAMEI]
(69,500) (70,000) L) 2kl
356,100 386,000 (Slusd!) Z L3I

a5l asjleald 7L 2 L
$360,267 (|

$355,600 (<
$356,100 (z
$425600 (2
0 sm N s a5l )
Aenlud| Ludg busgll $20 5lern pus s Bussg 10,000 olS pds 5Y SIad1 unY Slaed | &390
Sigdions 63 $204,750 JLoz| 31p2) go B9 10,500 ZilS dulaill lagkl et y>1.%40 Slagel | I

SOlacd | ey Silaed! yaw deabuw Sl yif 9 L

L= 4,000 @b 5,250 {

Page 13 of 14



&l 4,000 @b 5,250 (<
L= 4,000 &b 5,000 (z
&l 4,000 &k 5,000 (2
g )Y 5 el Jl sl
Busslgdl Busgll $30 Gleall yaudl pedes & mildl (e 5usg 5,000 au Lijlge Leud AN gus
$32,000 7Lyl i g 5ol $28 yau 59 6,000 el lelad $25,000 7 Lyi sy
§ Aedgi peid lom¥l Slagd! e 7 b1 Blmi] sale
$5,000 (I

$7,000 (<
$12,000 (z
$30,000 (-

Page 14 of 14



Answer all questions

Section A

(35 questions each guestion contain 2 marks)

Question 1:

Which of the following steps is the appropriate name for planning which
considers how the functional heads within a business unit will coordinate

employees on a day-to-day basis?

A. Strategic planning.

B. Tactical planning.

C. Operational planning.
D. Non of the above.

(2 marks)

Question 2:

A company employs three drivers to deliver goods to its customers. The
salaries paid to these drivers are:

A. A part of prime cost.
B. A direct production expense.
C. A production overhead.
D. Aselling and distribution overhead.
(2 marks)
Question 3:
Which of the following is not stockholding cost?
A. The opportunity cost of capital tied up.
B. The cost of insurance.
C. Shipping and handling cost.
D. Stock obsolescence.
(2 marks)
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Question 4:

Which of the following statements is false?

A. Financial accounting information can be used for internal
reporting purposes.

B. Routine information can be used to make decisions regarding
both the long term and the short term.

C. Management accounting provides information relevant to
decision making, planning, control and evolution of
performances.

D. Costaccounting can be only used to provide inventory valuation
for internal reporting.

(2 marks)
Question 5:

Which of the following statement is correct?

A. Only direct production costs should be included in stock valuation.
B. All indirect costs should be treated as non-production costs.

C. The sum of direct cost known as prime cost.

D. Indirect costs per unit are always larger than costs per unit.

(2 marks)

Question 6:

A cost which contains both fixed and variable element, and so is partly
affected by changes in the level of activity is called?

Sowme
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A direct cost.
A prime cost.
An unavoidable cost.
A semi-variable cost.

(2 marks)



Question 7:

The following data relates to an item of raw material.

Unit cost of raw material $20
Usage per week 250 units
Cost of ordering material, per order $400
Annual cost of holding inventory as a% of cost 10%
Number of weeks in a year 48

What is the economic order quantity, to the nearest unit?
A. 316 units
B. 693  units
C. 1,549 units
D. 2,191 units
(2 marks)
Question 8:

At the beginning of the year, bob co enters into a rental agreement with a
landlord who is entitled, under the terms of agreement, to change the rent
(either upwards or downwards) according to the economic conditions. Bob
co cannot cancel the agreement during the first six months.

For the first six months of the agreement, Bob co could classify the rent
asa?

A. Fixed cost.

B. Avoidable cost.

C. Semi-variable cost.
D. Uncontrollable cost.

(2 marks)
Question 9:

ABC Co budgeted to produce 10,000 units of its product (H) in the
budgeted time of 50,000 hours. During the period the company produced
12,500 units in a total time of 68,750 hours.

What is the capacity ratio and the production volume ratio for the period
(to one decimal place)?

Capacity ratio Production volume ratio
A. 137.5% 1255%
B. 125.5% 137.5%
C. 125.5% 130.5%
D. 130.5 % 1255 %
(2 marks)
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Question 10:
The management accountant of a company has calculated his firm’s break-
even point from the following date:

$
Selling price per unit 20
Variable costs per unit 8
Fixed overhead for next year 79,104

It is expected that next year the firm will produce and sell 7500 units.
What is the margin of safety?
A. 12.1%

B. 13.8%
C. 47.3%
D. 89.6%

(2 marks)

Question 11:
Variable costs are conventionally deemed to:

A. Be constant per unit of output.
B. Vary per unit of output as production volume changes.
C. Be constant in total when production volume changes.
D. Vary in total from period to period when production is constant.
(2 marks)
Question 12:

20,000 litres of liquid were put into a process at the beginning of the
month at a cost of $ 4,400. The output of finished product was 17,000
litres. The normal level of waste in this process is 20% and the waste
which is identified at the end of the process can be sold at $0.50 per litre.

What is the abnormal gain or loss and what is the cost per unit?
Abnormal gain $1,000 , Cost per unit $0.15
Abnormal loss $1,000 , Cost per unit $0.15
Abnormal loss $1,000 , Cost per unit $0.28
Abnormal gain $1,000 , Cost per unit $0.28

Sowe

(2 marks)
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Question 13:

The following represent the materials transactions for a company for a
year:

$000
Materials purchases 240
Issued to production 215
Materials written off 12
Returned to stores 6
Returned to suppliers 2

The materials stock at 31 December 2015 was $42,000.
What was the opening balance on the materials inventory account at 1
January 20157
A. $1,000
B. $25,000
C. $33,000
D. $59,000
(2 marks)

Question 14:

Which of the following is a feature of job costing?

A. Use of equivalent units.

B. Production is carried out in accordance.

C. Associated with continuous production of large volumes of low-
cost items.

D. Establishes the cost of services rendered.

(2 marks)
Question 15:

A company had 500 workers at the beginning of a period. During the
period, 70 workers left the company for various reasons and 46 new
workers were employed.

What is the labour turnover rate for the period (to the nearest %)

A, %7
B. %8
C. %9
D. %10

(2 marks)
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Question 16:
Which of the following would be the most appropriate basis for
apportioning machinery insurance costs to cost centres within a factory?

A. The number of machines in each cost centre.
B. The floor area occupied by the machinery in each cost centre.
C. The value of the machinery in each cost centre.
D. The operating hours of the machinery in each cost centre.
(2 marks)
Question 17:
Which of the following costs is relevant for decision making?
A. Common costs.
B. Committed costs.
C. Avoidable fixed costs.
D. Non of the above.
(2 marks)
Question 18:

Products Alpha and Beta are made in factory that has two production
cost centres: assembly and finishing. Budgeted production is 8,000 alpha
and 10,000 beta. Fixed overheads are absorbed on a labour hour basis.

The following budgeted information is available:

Production Finishing

Allocated and apportioned fixed cost $55,000 $63,000
Direct labour hours per unit:

Product alpha 1.5 hrs 2 hrs

Product beta 1hr 0.5 hrs

What is the budgeted fixed cost per unit for product beta?

A. $10,425

B. $3.46

C. $9.75

D. $4.00

(2 marks)
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Question 19:

B Co makes a product which has a variable production cost of $21 per
unit and sales price of $39 per unit. At the beginning of 2015, there was no
opening inventory and sales during the year were 50,000 units. Budgeted
and actual fixed costs (production, administration, sales and distribution)
totaled $328,000. Budgeted and actual production was 70,000 units.

What is the value of closing inventory under absorption costing?

A. $113,800
B. $213,800
C. $313,800
D. $513,800
(2 marks)
Question 20:

A manufacturing company has the following budgeted and actual results
for the year:

Budgeted fixed overhead expenditure $504,000
Budgeted activity 42,000 machine hours
Actual fixed overhead expenditure $515,000
Actual activity 45,000 machine hours

What is the result of using the pre-determined fixed overhead rate for the
year?

A. $36,000 over - absorbed
B. $11,000 under- absorbed
C. $25,000 under- absorbed
D. $25,000 over- absorbed
(2 marks)
Question 21:

Annual fixed costs are expected to be $120,000. The company’s product
sells for $20 per unit with variable costs of $12 per unit.
What is the break-even point?
A. 15,000 units
B. 5,000 units
C. 20,000 units
D. 10,000 units
(2 marks)
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Question 22:
ABC Company has a manufacturing capacity of 10,000 units. The fixed
production cost budget of the company is as follows:

Capacity 60% 100%
Total production $11,280 $15,120
What is the budgeted production cost it operates at 85% capacity?
A. $13,680
B. $12,852
C. $14,025
D. $12,340
(2 marks)
Question 23:
A company producing a single product reported the following profits:
Basis Profit
Marginal costing $100,000
Absorption costing $110,000
Fixed overhead per unit for the period was $5

Which of the following statements are true?
i) Closing inventory levels are 2000 units higher than opening
inventory.
ii) Opening inventory levels are 2000 units higher than closing
inventory.
iii) Itis impossible to say whether inventory levels have changed.
iv) More units were produced than sold during the period.
A. (i) and (iv)
B. (ii) and (iv)
C. (iii) only
D. (iv) only
(2 marks)
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Question 24:

ABC Ltd manufactures product L and wishes to achieve a profit of
$20,000. The following information relate to product L.

Selling price per unit $20
Variable cost per unit $12
Fixed cost $100,000

What are the sales volume required to achieve a profit of $20,000?

A. 10,000 wunits
B. 15,000 units
C. 20,000 wunits
D. 25,000 units

(2 marks)
Question 25:
The following data apply to a non-current asset:
$
Net realisable value 5,000
Historical cost 6,000
Net present value in use 7,500
Replacement cost 10,000
What is the relevant cost of the asset for decision making purposes?
A. $10,000
B. $7,500
C. $6,000
D. $5,000
(2 marks)
Question 26:

A company has a maximum demand of 1,000 units for each of its four
products W, X, Y, Z selling prices and costs are given below:

Per unit $ w X Y Z
Selling price 80 60 65 90
Direct labour (a $5 per hr) 10 15 5 15
Raw material (a $6 per unit) 18 6 18 24
Variable overhead 12 7 7 6
Allocated fixed costs 9 7 7 6
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Labour and materials are in short supply. Labour is limited to 10,000
hours and materials to 9,000 units.
Which garment should be chosen first in the production schedule?
A. Garment W
B. Garment X
C. Garment Y
D. Garment Z
(2 marks)

Question 27:

Suppose that the optimal solution to a linear programming problem is at
the intersection of the following two constraint lines:
(1) 2x+3y=1,700
(2) 5x+2y=2,600
What is the value of X and Y using simultaneous equations?

X Y
A. 300 400
B. 400 400
C. 400 300
D. 300 300
(2 marks)
Question 28:

Which of the following is not disadvantage of using spreadsheets?

A. Spreadsheets are restricted to finite number of records, and can
require a large amount of hard drive space for data storage.

B. There can be sharing violations among users wishing to view or
change data at the same time.

C. Spreadsheets do not have the ability to generate graphs and charts
for the analysis of data.

(2 marks)
Question 29:
In a process account abnormal losses are valued at:
A. Good production cost less scrap value.
B. Their scrap value.
C. The same as good production.
D. Nil
(2 marks)
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Question 30:

4000 kg of material are input to a chemical process. Normal losses are
expected to be 10% of input and because of their toxic nature will incur a
disposal of $ 2 per kg.

The process cost $11,800 and actual output was 3550 kg.
What is the total cost of the abnormal loss (to the nearest $)?

A. $53
B. $153
C. $175
D. $275
(2 marks)
Question 31:

Which of the following statistics is unlikely to be used by the rooms
department of a hotel business?
A. Cleaning cost per room
B. Room occupancy
C. Average cost per occupied bed
D. Meals served per quest
(2 marks)
Question 32:
A company weekly cost ($C) were plotted against production level (P)
for the last 50 weeks and a regression line calculated to be C=1,000+250P.
Which statement about the breakdown of weekly cost is true?
A. Fixed costare $ 1,000, variable cost per unit are $5.
B. Fixed cost are $ 250, variable cost per unit are $4.
C. Fixed costare $ 250, variable cost per unit are $1,000.
D. Fixed cost are $ 1,000, variable cost per unit are $250.
(2 marks)

Question 33:

If ¥’x=100, }Y=400, }'x2=2,040, ).Y?=32,278, }XY=8,104 and n=5.
Which of the following values for a and b are correct in the formula
y=a+bx?

a b
A. 28 +2.6
B. 28 -2.6
C. -28 -2.6
D. -28 +2.6

(2 marks)
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Question 34:
Which of the following may be considered to be objectives of budgeting?
(i) Coordination.
(ii) Communication.
(iii) Expansion.
(iv) Resource allocation.
A. (i), (ii) and (iv) only.
B. (i) and (iii) only.
C. (ii) and (iii) only.
D. All of them.

(2 marks)

Question 35:
Which of the following are suitable measures of performance at the
strategic level?
1) Return on investment.
2) Market share.
3) Number of customer complaints.
A. (1) and (2)
B. (2) only
C. (2) and (3)
D. (1) and (3)

(2 marks)
(Total 70 marks)
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Section B
(10 questions each question contains 3 marks)
Question 36:

Dal Co. plans to sell 24,000 units of product R next year. Opening
inventory of R is expected to be 2,000 units and Dal plans to increase
inventory by 25 percent by the end of the year.

How many units of product R should be produced next year?

A. 23,500 units
B. 24,000 wunits
C. 24,500 units
D. 30,000 wunits
(3 marks)
Question 37:

A company manufactures and sells one product which requires 8kg of
raw material in its manufacture. The budgeted data relating to the next
period are as follows:

Units
Sales 19,000
Opening inventory of finished goods 4,000
Closing inventory of finished goods 3,000
Kg
Opening inventory of raw material 50,000
Closing inventory of raw material 53,000
What is the budgeted raw material purchases for next period (in kg)?
A. 141,000
B. 147,000
C. 157,000
D. 163,000
(3 marks)
Question 38:

The following information has been supplied in connection with an
organisation’s labour and overhead budget:

Product Alpha Product Beta
Cost per unit cost per unit
$ $
Unskilled labour (@ $5/hr.) 15 10
Skilled labour (@ $8/hr.) 16 24
Labour cost 31 34
Budgeted production 8,000 units 12,000 units
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What is the total amount of skilled labour hours required in the period?
A. 40,000 hours
B. 48,000 hours
C. 52,000 hours
D. 60,000 hours
(3 marks)
Question 39:
A company’s standard labour rate for its factory workers is set at 5%
per hour.
The standard time allowed for producing one unit is 20 minutes.
During the period 4,800 units were produced and the factory workers
were paid $5.25 per hour. The actual hours worked were 1,560.
What was the total labour cost variance?
A. $390 adverse
B. $190  adverse
C. $190 favourable
D. $390 favourable

(3 marks)
Question 40:

A company’s standard variable overhead rate for manufacturing is $7
per hour and the standard time allowed for production is 2.5 hours per
unit.

During the period 3,200 units were produced in 8,320 hours. The variable
overhead expenditure variance was $1,664 favourable.

What was the actual variable overhead rate per hour?

A. $6.53
B. $6.80
C. $6.93
D. $7.20

(3 marks)
Question 41:
A company has recorded the following variances for a period.
Sales volume variance $10,000 adverse
Selling price volume variance $5,000 favourable
Cost volume variance $12,000 adverse
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Standard profit on actual sales for the period was $120,000.
What was the fixed budget profit for the period?
A. $137,000
B. $130,000
C. $110,000
D. $103,000
(3 marks)
Question 42:

A manufacturing company operates a standard absorption costing
system. Last month 25,000 production hours were budgeted and the
budgeted fixed production cost was $125,000. Last month the actual hours
worked were 24,000 and the standard hours for actual production were
27,000.

What was the fixed production overhead capacity variance for the last
month?

A. $5,000 adverse
B. $5,000 favourable
C. $10,000 adverse
D. $10,000 favourable

(3 marks)
Question 43:
Budgeted results and actual results for September are shown below:
Fixed budget Actual
12,000 units 11,200 units
$ $
Sales 600,000 571,200
Direct costs (144,000) (145,000)
Fixed costs (70,000) (69,500)
Profit (loss) 386,000 356,100
What is the profit for the flexed budget?
A. $360,267
B. $355,600
C. $356,100
D. $425,600
(3 marks)
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Question 44:

A company budgeted sales for last month were 10,000 units with a
standard selling price of $20 per unit and contribution to sales ratio of
40%. Last month actual sales of 10,500 units with total revenue of
$204,750 were achieved.

What were the sales price and sales volume contribution variances?

Sales price variance ($) Sales volume contribution variance ($)
A. 5,250 adverse 4,000 favourable
B. 5,250 adverse 4,000 adverse
C. 5,000 adverse 4,000 favourable
D 5,000 adverse 4,000 adverse
(3 marks)
Question 45:

A company budgeted to sell 5,000 units of product in November at
standard price of $30 per unit and to earn a profit of $25,000. It actually
sold 6,000 units at $28 per unit and earned a profit of $32,000.

What was the favourable sales volume profit variance for November?

A. $5,000
B. $7,000
C. $12,000
D. $30,000
(3 marks)
(Total 30 marks)
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